4p is a lot more than it sounds!

A brewer currently earns just An EPR 4p increase would wipe out
2p from every bottle of Beer! profits without further price rises

@ Extended Producer @

Responsibility will
Increase packaging
cost up to £138 million

or 4p per 330ml bottle @  ____. e
17% for brewers every year 17%

Brewer profit 2p Brewer profit -3p

Producer & Retail Costs Producer & Retail Costs

Average price of UK bottle of Average price of UK bottle of
beer: £0.95* beer: £0.95*
Duty: £0.31 Duty: £0.32
VAT: £0.16 VAT: £0.16
Producer & Retail Cost: £0.47 Producer & Retail Cost: £0.47

Brewer profit:
Brewer profit:

Source: Frontier Economics, BBPA estimates *May not sum due to rounding



